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 k6s] ;jf/L s/sf] b/ /]6x? 

s|=;+= laj/0f  k6s] ;jf/L s/sf] b/ /]6x? jflif{s s/ 

  

gu/kflnsf If]]qleq ;~rfng x'g] 

tkl;nsf ;jf/L ;fwgx?nfO{ 

tkl;n adf]lhd k6s] ;jf/L s/ jf 

;f] jfkt Psd'i6 jflif{s s/ a'emfpg' 

kg]{ 5 .       

1 c6f] l/S;f - ;jf/L ;fwg s/ _     1500 

2 O{ l/S;f - ;jf/L ;fwg s/ _     1000 

3 lhk, sf/, Eofg  –   20 2000 

4 a;   50 5000 

5 ldlga;   50  3000 

6 jLª\u/   30  2500 

7 ef/L oGq 
  25000 

8 

;fj{hlgs afx]ssf lghL tyf ;+:yfut 

;jf/L ;fwgsf] xsdf  
   

-s_ a; 
  

3000 

-v_ ldlga; 
  

2500 

-u_ ljªu/, lhk, sf/, Eofg 
  

2000 

9 k|lt 6«ofS6/ 6«fnL –   200   

10 
k|lt l6Kk/÷6«s 

  500   

11 c6f]l/Szf 5   

12 aflx/ /l;b sf6]sf     

  

 s= k|lt 6«ofS6/ 6«fnL – 

  25   

   v= k|lt l6Kk/÷6«s   100   

 


